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QUESTION 1

You are configuring an AMS 2000 system to be part of a HCP 500 appliance solution. Which types and numbers of
LUNSs are required per HCP node as a minimum configuration?

A. two OS; two data LUNs
B. one OS; two data LUNs
C. one OS; one data LUN
D. two OS; two data LUNs

Correct Answer: B

QUESTION 2

How does a HCP protect object metadata?

A. The metadata protection level is matched to the DPL level set for data;
B. The administrator sets the DPL policy required for all HCP metadata;

C. The MDPL mechanism automatically creates two copies of the metadata;
D. The administrator must manually execute the metadata copy command.

Correct Answer: C

QUESTION 3

When connecting HCP nodes to the storage SAN fabric, which two approaches must be used? (Choose two.)
A. Connect port 1 on each node in the HCP system to an even port on the fabric switch.

B. Connect port 0 on each node in the HCP system to an even port on the fabric switch.

C. Connect port 0 on each node in the HCP system to an odd port on the fabric switch.

D. Connect port 1 on each node in the HCP system to an odd port on the fabric switch.

Correct Answer: BD

QUESTION 4
How many public network drops are required per storage node for a HCP installation?

A. 1 public network drop
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B. 2 public network drops
C. 6 public network drops
D. 12 public network drops

Correct Answer: B

QUESTION 5

When performing HCP maintenance using PuTTY, what is used to forward the SSH keys?
A. Pageant

B. Pelican

C. Polaris

D. Proxy server

Correct Answer: A
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